


Py=VoaX 1ot VgoX g,
P..= P,/N

Vinguny=ACy X L-414(DCV)

Vi iy =ACy X1 .414(DCV)




iy =P XV o

Linamo=P XV aiy

K I:)OUT

Vin (MIN)
K=1.4(Buck

K=2.8(
K=5.5(Boost Buck- Boost




MPP
/ 1In/mm)
0.65(16)
0.80(20)
1.1(30)
1.5(38)
2.0(51)

E-E E-C

( )/ (/mm)
0.5(11)
1.1(30)
1.4(35)
1.8(47)
2.4(60)




0.68Pout dwx10°




Knet=Ka.Kb...

A’p=Knet.Ap
AP,




1.4 Lpri
Vin(min)'Dmax
Lpri = )
Ipk F
T Hz

Lgap

0.4 TTlLl,. 108

cm?




Npri =

I\Ipri (V01+VD1) (1—Dmax)

¢ )

Vingniny Dmax

(Vo tVor) Nsi

VOl + VDl




1.9

Vsn
oVsn%=(( = —— N’sn-Vsn)/Vsn)x100%
Nsn

O VsnY%
Vsn
Nsn
N’sn




1.10

dwn= 1.13 [ In_ (mm)
J
dwm mm;
In A

A/mm?2, 3-10A/mm?




MLT=E+D+ E-D +2C=2E+2C

Pcun=(Nn*MLT*Rn) I n?
Pcun ——




3
Pcu=2>_pcun

1.12

1.13
n

Pr=Pin-Po=Po/N -Py
P = Pcu+Pc),




AC90—240V
DC+5V
DC+12V,
DC-12V,
DC+24V,
DC+12V,

1A
1A
1A
1A
100mA
+5V  +12V
+24V

N=80%
50KHz

VDE

Bmax=2000G

50/60Hz

0.75A
100mA
100mA
0.25A

+/-5Y%
+/-10%




2.2
1 Po=5V*1A+2*12V*1A+24V*1 .5A=65W
2) PIn=Po/1N=65W/0.8=81.25W
3) Vin(min)=AC90V*1.414=DC127V
4) Vin(max)=AC240V*1.414=DC340V
5)

6)

Lin(min)=Pin/Vin(max)=81.25WDC340V=DC0.24A
[)) Ipk=5.5Po/Vin(min)=5.5*65W/127V=2_81A
2.3

I in(max)=Pin/Vin(min)=81.25WDC127V=DC0.64A

1 65W 35mm EE35/35/10 PC30
Ae=100mm?, Acw=188mm?, W=40.6g
2.4 Lpri
Vin(min) . Dmax 127*0.5
Lpri= = = 452*10-°H=452uH
Ipk.f 2.81*50*103
Dmax=0.5




2.5 Lgap
0.47tlpri. Ipk*108 0.477*452*10-6*2_81*108
Lgap= = = 0.04cm=0.4mm
Ae B°max 1*(2000)2
EE35/35/10 AL=120uH/N?> Lgap 0.5mm

2.6 Npri

Lpri 452*10-°
Npri = | — = = 61.4 Npri=62
AL 120*10-°

2.7 NS1 NS1 DC+5V
Npri(Vy,+V;) (1-Dmax) 62*(5+0.7)*(1-0.5)
Ns1= = = 2.78
Vin(min)Dmax 127*0.5

Ns1=3
V,=0.7V




(Von+Vpn)Ns1

Nsn =
Vo1+Vp1

(12+0.7)*3

Nsn =
5+0.7

(24+0.7)*3

Ns24 =
5+0.7



Vsn
oVsn%=(( == *Ns’n-Vsn)/Vsn)*100%
Nsn

12
+12V SV U=(( = *7-12)12)*100%=4 . 79%
6.68

24
24V SV, h=(( = *13-24)24)*100%=0 %
13

dwn=1.13 | In_
J




66.1  66.1
Jf Jrorie8

dwp = 1.13 0.64 = 0.52

3

S = 0.29 - mm

+5V dwnl = 1.13 /1 = 0.65
3

+12V, 0
-12V, 0.
+24V 0.

0.

.5, 4
5, 2
5 2
4




0.5*%2/6

0.5*4/4

0.5*6/3

0.5*%2/7







Pcun = NnV* MLT*Rn)In?

MLT = 2E+2C=2*25.27+2*9.35=69.24mm

Pcup=(62*69.24*10-3*0.085)0. 642
Pcu+5V=(3*69.24*10-3*0..085/6) 32
Pcu+12V=(4*69.24*10-3*0 .085/4)22
Pcu+24V=(6*69.24*10-3*0 . 085/2) 12
Pcu-12V=(7*69.24*10-3*0 . 085/2) 12

=0.15W

=0.026W
=0.024W
=0.018W
=0.021W

149W

0.07W
0.06W
0.05W
0.06W

Pcu=0.15+0.026+0.024+0.018+0.021=0.239W

2) PC30 S50KHz , 20006 =250mw/cm3=52mw/g
Pc=250*10-3 *40.6 =2.1W
4.8

Pyr=PctP=0.239+2.1=2.339=2.34W




4)

MOSFET
MOSFET 60%
80% 16.25\.
a. MOSFET:Py,=16.25W*0.35=5.7W
b. P,+5V=(5/65  16.25W 0.6 =0.75W
P+12V=(12*2/65  16.25W 0.6 =3.6W

Pyt24V=(24/65  16.25W 0.6 =3.6MW
Por= PP =2-330W

Py =5.7+0.75+3.6+3.6+2.34=15.72W







